PHYS 142, EXAM1  NAME: SECTION:

[]Q) 3. Consider a parallel plate capacitor with circular plates each of radius re2cm separated by a distance dedmm.
(a) What is the capacitance of this capacitor? (b) What happens 1o the capacitance If | completely fill the
capacitor with plastic with a dielectric constant of 3.47 () What is the capacitance of the capacitor if |, instead of
completely filling it with this plastic, | just put a 2mm slab of plastic on one of the plates inside the capacitor?
(HINT: you can treat the new capacitor with a slab of plastic as two capacitors connected in series: one having
only vacuum inside, and the other baing completely filled with the plastic.)
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